CHIEFTEC zdroj GPB-500S 500W, akt. PFC,
12cm fan, 85+, bulk

cena vc¢ DPH: 1281 K¢
cena bez DPH: 1059 K¢
Koéd zbozi (ID): 2042325
PN: GPB-500S
Zaruka: 24 mésicl

http://www.chieftec.eu/en/psus/iarena-series/gpb-500s-new.html
Vykon
Vstup striedavého prudu:
200-240V /4 A
Frekvencia:
47-63 Hz
+5V:
17A
+3,3V:
18A
+5Va+3,3Vspolu:
110w
+12V 1:

38A/456W



Konektory

Nativny kabel:

20+4PIN:

===400mm

SATA:

[20+4PIN]

+12V 2:
NEUPLATNUJE SA
+12V 1 a +12V 2 spolu:
NEUPLATNUJE SA
+12V 3:
NEUPLATNUJE SA
+12V 4:
NEUPLATNUJE SA
+12V 3 a +12V 4 spolu:
NEUPLATNUJE SA
P.F.:
>0,9
-12V:
0,3A/ 3,6W
+5VSB:
25A/125W
Maximalne zatazenie:

500w



==400mm===[Molex]===150mm===[SATA]===150mm===[SATA]

Molex/Sata:

==400mm===[SATA]===150mm===[Molex]===150mm===[Molex]

Molex/Sata:

==400mm===[SATA]===150mm===[SATA]

6+2PIN PCle:

==400mm===[6+2PIN PCle]

4PIN 12V :

==400mm===[4PIN 12V]

<p><a href="http://www.chieftec.eu/en/psus/iarena-series/gpb-500s-new.html|">h
ttp://www.chieftec.eu/en/psus/iarena-series/gpb-500s-new.htmi</a></p>
<p><span style="font-size: 12pt;"><strong>Vykon</strong></span></p>
<div style="text-align: center;">

<table dir="Itr" style="height: 880px; width: 437px; border-spacing: Opx;"
border="0" cellpadding="2">

<tbody>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>Vstup striedavého prudu:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="1tr">200-240 V / 4 A</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>

</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>Frekvencia:</strong></p>




</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">47-63 Hz</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>+5V:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">17A</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>+3,3V:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">18A</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="ltr"><strong>+5 V a +3,3 V spolu:</strong></p>
</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">110W</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>+12V 1:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">38A/456W</p>

</td>

</tr>




<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>+12V 2:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">NEUPLATNUJE SA</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="ltr"><strong>+12V 1 a +12V 2 spolu:</strong></p>
</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">NEUPLATNUJE SA</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>+12V 3:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">NEUPLATNUJE SA</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>+12V 4:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">NEUPLATNUJE SA</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">




<p dir="Iltr"><strong>+12V 3 a +12V 4 spolu:</strong></p>
</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">NEUPLATNUJE SA</p>

</td>

</tr>

<tr>

<td colspan="2" valignh="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>P.F.:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">&gt;0,9</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>-12V:</strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">0,3A / 3,6W</p>

</td>

</tr>

<tr>

<td colspan="2" valignh="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>+5VSB: </strong></p>

</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">2,5A /12,5 W</p>

</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 66%;">

<p dir="Itr"><strong>Maximalne zatazenie:</strong></p>
</td>

<td valign="middle" style="width: 34%;">

<p dir="Itr">500W</p>

</td>




</tr>

</tbody>

</table>

</div>

<p><span style="font-size: 12pt;"><strong>Konektory</strong></span></p>
<p><span style="font-size: 10pt;"><strong>Nativny
kdbel:</strong></span></p>

<div style="text-align: center;">

<table dir="Itr" border="0" cellpadding="2" style="width: 18px; border-spacing:
Opx;">

<tbody>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>

</tr>

<tr>

<td valign="middle" style="width: 50%;"></td>

<td valign="middle" style="width: 50%;"></td>

<[tr>

<tr>

<td valign="top" style="width: 50%;"></td>

<td valign="middle" style="width: 50%;"></td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>

</tr>

</tbody>

</table>

</div>

<div style="text-align: center;">

<table dir="Itr" style="height: 662px; width: 510px; border-spacing: Opx;"
border="0" cellpadding="2">

<tbody>

<tr>

<td colspan="2" valign="top">

<p dir="Itr" style="text-align: left;"><strong>20+4PIN:</strong></p>
</td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;">===400mm===[20+4PIN]</p>
</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;"><strong>SATA:</strong></p>




</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;">===400mm===[Molex]===150mm===[SA
TA]l===150mm===[SATAl</p>

</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;"><strong>Molex/Sata:</strong></p>
</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;">===400mm===[SATA]===150mm===[Mol

ex]===150mm===[Molex]</p>

</td>

<td valign="middle" style="width: 1%;"></td>
</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;"><strong>Molex/Sata:</strong></p>
</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align:
left;">===400mm===[SATA]===150mm===[SATA]</p>

</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;"><strong>6+2PIN PCle:</strong></p>
</td>




<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;">===400mm===[6+2PIN PCle]</p>
</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;"><strong>4PIN 12V :</strong></p>
</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td colspan="2" valign="middle" style="height: 4px;"></td>
</tr>

<tr>

<td valign="top" style="width: 99%;">

<p dir="Itr" style="text-align: left;">===400mm===[4PIN 12V]</p>
</td>

<td valign="middle" style="width: 1%;"></td>

</tr>

<tr>

<td valign="middle" style="width: 99%;"></td>

<td valign="middle" style="width: 1%;"></td>

</tr>

</tbody>

</table>

</div>

<p style="text-align: center;"></p>

<p style="text-align: center;">.</p>
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